EARAROBEEIERT — 2 N— IBISH —F

201746A3H (1) 3mEER4R

GBI C 2 +7H%E 7R —#K& ‘ (%] 2 ‘ (arsml — | 4 (%) 12000 &
[AE4£] 17 :200,000 ™ ~ 237%&:40,000”  337%&:20,000H” . 43&:14,000H 53 :6,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
11111 FHT4F— K 4 6 ;ﬁ’rgﬂﬁ 1:(1_5).2 1-1 38.0 — 1 (4617) ggg:‘é (FiR)
LY/ by TH BOXEANR-—I 3 INTr—L
3 — BREE :15. — . — 1EiEhE] (KR
2|8|g|*T>avr=v7 R e A S e
L2740 K B X142 a4y FE e
po——— ) . ~ n
NZJ3aALTYTk Ho4 %J%Eh 1.(145).8 6-2 38.0 6 z:g;@ ;gﬁg% (2%M)
R 2RUTYIIZX BNEI T7ANLT 1 BREHT v RS9 - Tr—L
T—JEZXF1— 4 8 'J\EASU% 1:16.5 2-2 39.0| — 5 533 ﬁiﬁgi_éi‘é (B&FH)
’ @ = R
LN—VITL BiAAETEY LR U iSSP
K= 5 AT - - - = ()
YA LNZSABA o5 B 1(.11/62.>6 -7 38.1 4 zzg? E??g*u:lﬂ (KiR)
L:FFHXTF>d B:bhyTITTELC b e ]
© = KIFIE :16. = . — &R (BERE)
Ko RILAHILIT % 5 2o 1 (126)9 2-2 39.5 7 (4_734) S
Z:aArFaay b B:vM4xd1—% EvJiLy RT77—L4L
— s — e it 6 | SARKME 1:17.0 2-5 39.6| — 3 485 | FREEFD (IGR)
71818 z::;x;;;—_:‘\"7:>7\7{7’— o0 2 (+6) g%g?i§¥
gl7|l7|F74 Oy T 4 iﬁg!;#ﬁ 1:18.2 7-8 9.4 — | 8 | 424 T—é)‘ﬁi (%E)
5 7 K= 7
Rk pTFU R —L BTSN MFTF o #0) |nm ma
@ 1—F—@&BIEf
13—7—
23— —
30—7+— 1,(2,5,6),8,3, (4,7)
43—F— 1,(2,3,6),(5,8),4,7
[ RN
B OB 1 140 714K 1-8 270M B E 1-8 430M &R 1-3-8 2,810
8 B 1 1009 11=3 800F B H 1-8 560/ JEH 1-8-3 6,970
8 1804 3-8 1,310
8 480M

ABICOVWTRDTEEERROODE. TR LIV,




